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(2015.3.1 ~ 2016.2.29)

Ol A2 AFSHI 129 90
223l 1,989 2,286
KMl S =2t 122 119
Zotar 2| 11,665 11,648
SE A 2] 1,448 1,410
o RSls] 859 642
a2l 21 3
o=z 201 246
eF=ESHHI 10,858 10,031
Sd3tAr I 618 664
Q| =& Attl 1,315 1,076
SIE=HMHI=E 109 0
3|2l 2 4
J|EFEHI 15 9
3.2 20/ 22,630 18,197
4. 915249 6,599 7,183
A= 1,286 948
2R+ 906 892
Ol K=< 501 436
gz 2,222 2,258
SIS E XM Z20IS 28 0
S 20(< 8 4
g2 2 21
RS2 178 457
=122x3 527 882
QI F X & ALY =2 50 0
HEl0l&E = 14 0
&0l 877 1,285
5.9 =228l 3,432 3,134
HPHI=E 1,466 1,001
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